




1



2



3



4



5



6



7



8



9



10



11



12



13



14



15



16



17



18



19



20



21



22



23



24



25



26



ܹ ߣ݇ 1,
ߣ ߣ,2 ߣ,3

=ܤ,4
∑ ߣ ݊݊E

ܵ2
ߩ−21

݊−1
ߩ−1 ݊=E[ܺ2 ] 2Eܺ∙

∑ ߣ ݊݊E
ܺ

∑−ܤ
ߣ ݊ ݊<݇E

−ܤܺ
∑ ߣ ݊ ݊≤݇

Eܺ  
݇

ܹ ݇

ܹ ߣ1 1
ߣ߂+ ߣ,1

ߣ,2 ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 1
ܤ߂+ܤ

ܤ߂+ܤ
ߣ− 1Eܺ

ߣ߂− 1E
ܺ

ܹ ߣ1 1,
ߣ ߣ߂+2

ߣ,2 ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ߂݊݊

ߣ 2
߂+ܤܤ

+ܤܤ
ߣ−ܤ߂

1Eܺ
ܹ ߣ1 1,

ߣ ߣ,2 3+
ߣ߂ ߣ,3 4

ܤ߂+ܤ,
ܥ= 0∙

∑ ߣ ݊݊+
ߣ߂ 3

ܤ߂+ܤ
ܤ߂+ܤ

ߣ− 1Eܺ
ܹ ߣ1 1,

ߣ ߣ,2 ߣ,3
ߣ߂+4 4

ܤ߂+ܤ,
ܥ= 0∙

∑ ߣ ݊݊+
ߣ߂ 4

ܤ߂+ܤ
ܤ߂+ܤ

ߣ− 1Eܺ
ܹ ߣ1 1,

ߣ ߣ,2 ߣ,3
=ܤ,4

ܥ 0∙
∑ ߣ ݊݊ ߣ−ܤܤ

1Eܺ

ܹ ߣ2 1
ߣ߂+ ߣ,1

ߣ,2 ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 1
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ߂− 1E

+ܤܺ
ߣ−ܤ߂

1Eܺ−
ߣ 2Eܺ

ߣ߂− 1E
ܺ

ܹ ߣ2 1,
ߣ ߣ߂+2

ߣ,2 ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 2
ܤ߂+ܤ

ߣ− 1Eܺ
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ߣ߂− 2E
ܺ

ܹ ߣ2 1,
ߣ ߣ,2 3+

ߣ߂ ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 3
ܤ߂+ܤ

ߣ− 1Eܺ
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ܹ ߣ2 1,
ߣ ߣ,2 ߣ,3

ߣ߂+4 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 4
ܤ߂+ܤ

ߣ− 1Eܺ
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ܹ ߣ2 1,
ߣ ߣ,2 ߣ,3

=ܤ,4
ܥ 0∙

∑ ߣ ݊݊
ߣ−ܤ 1E

−ܤܺ
ߣ 1Eܺ

ߣ− 2Eܺ

ܹ ߣ3 1
ߣ߂+ ߣ,1

ߣ,2 ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 1
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ߣ߂− 1E
+ܤܺ

ߣ−ܤ߂
1Eܺ−

ߣ 2Eܺ
ߣ− 3Eܺ

ߣ߂− 1E
ܺ

ܹ ߣ3 1,
ߣ ߣ߂+2

ߣ,2 ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 2
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ߣ߂− 2E
+ܤܺ

ߣ−ܤ߂
1Eܺ−

ߣ 2Eܺ
ߣ− 3Eܺ

ߣ߂− 2E
ܺ

ܹ ߣ3 1,
ߣ ߣ,2 3+

ߣ߂ ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 3
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ܤ߂+ܤ
ߣ− 1Eܺ

ߣ− 2Eܺ
ߣ− 3Eܺ

ߣ߂− 3E
ܺ

ܹ ߣ3 1,
ߣ ߣ,2 ߣ,3

ߣ߂+4 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 4
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ܤ߂+ܤ
ߣ− 1Eܺ

ߣ− 2Eܺ
ߣ− 3Eܺ

ܹ ߣ3 1,
ߣ ߣ,2 ߣ,3

=ܤ,4
ܥ 0∙

∑ ߣ ݊݊
ߣ−ܤ 1E

ߣ−ܺ 2
Eܺܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ߣ− 3Eܺ

ܹ ߣ4 1
ߣ߂+ ߣ,1

ߣ,2 ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 1
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ߣ− 3Eܺ
ߣ߂− 1E

+ܤܺ
ߣ−ܤ߂

1Eܺ−
ߣ 2Eܺ

ߣ− 3Eܺ
ߣ− 4Eܺ

ߣ߂− 1E
ܺ

ܹ ߣ4 1,
ߣ ߣ߂+2

ߣ,2 ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 2
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ߣ− 3Eܺ
ߣ߂− 2E

+ܤܺ
ߣ−ܤ߂

1Eܺ−
ߣ 2Eܺ

ߣ− 3Eܺ
ߣ− 4Eܺ

ߣ߂− 2E
ܺ

ܹ ߣ4 1,
ߣ ߣ,2 3+

ߣ߂ ߣ,3 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 3
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ߣ− 3Eܺ
ߣ߂− 3E

+ܤܺ
ߣ−ܤ߂

1Eܺ−
ߣ 2Eܺ

ߣ− 3Eܺ
ߣ− 4Eܺ

ߣ߂− 3E
ܺ

ܹ ߣ4 1,
ߣ ߣ,2 ߣ,3

ߣ߂+4 4
ܤ߂+ܤ,

ܥ= 0∙
∑ ߣ ݊݊+

ߣ߂ 4
ܤ߂+ܤ

ߣ− 1Eܺ
ߣ− 2Eܺ

ߣ− 3Eܺ
ߣ߂− 4E

+ܤܺ
ߣ−ܤ߂

1Eܺ−
ߣ 2Eܺ

ߣ− 3Eܺ
ߣ− 4Eܺ

ߣ߂− 4E
ܺ

ܹ ߣ4 1,
ߣ ߣ,2 ߣ,3

=ܤ,4
ܥ 0∙

∑ ߣ ݊݊
ߣ−ܤ 1E

ߣ−ܺ 2
Eܺ−

ߣ 3Eܺ
ߣ−ܤ 1E

ߣ−ܺ 2
Eܺ−

ߣ 3Eܺ
ߣ− 4Eܺ

ߣ߂ ܤ߂݊
• •

݇ 
ܹ ݇

•
ܺ

•
ܤ

•
ܵ=ܺ/

ܤ
•

݇ 
ߩ ߣ=݇ ܧ݇

ܵ

1
ଵܹ

2
ଶܹ

3
ଷܹ

4
ସܹ

27



ଵܥ + ଵܥߩ/1 + ଵܥߩ/11 + 1
ଶܥ + ଷܥ + ଶܥߩ/1 + ଷܥଷܥ + ଶܥߩ/1 + ଶܥߩ/ଷ1ܥ + ଷܥ ଷܥ + ସܥ + ଷܥߩ/1 + ସܥସܥ + ଷܥߩ/1 + ସܥ
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